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A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar

I =W —u® 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(@w®—u?+... —u+1)

(i) Arc colorings

w=(3)

ag =

—u" 4+ 4ud — 4ud + 2u
uw —3ud+u
—u'® + 116 — 48u! + 107u!? — 133010 4 95u® — 34uS 4 2u* +u? + 1
ul® — 10u'S + 37ul? — 60u'? + 35ut0 + 8ud — 16uS + 4u* — u?

—u® +5ub — Tut+ 202 + 1
wl® — 6ud + 11ub — 6u® + u?
—u + 12017 — 58u® + 144413 — 1930 + 130u° — 2607 — 14u® + 5u3
ar = u? —13u!? 4+t tu

u? —18u%" + - —Sud +u

a12 = \ —u? + 17" + -+ ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u?" — 72u% + 560u?® — 4u?? — 2464u>! + 60u?° + 6748u'® —
376u'® — 11928417 + 1276u'6 + 13628u'® — 2544u* — 9672u!3 + 3024u'? + 3680u'! —
2060ut0 — 256u° + 696u® — 29617 — 76u’ + 52u® + 16u* + 28u> — 12u2 — 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u? +5u* 4+ 1Tu+ 1
C2,C3,Cy4 u30_u29+_.__u_~_1
s, Co
Cs, Cg, C7 u30+u29+_”+u_~_1
C11, C12
C10 w3 —5u? o —1Tu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢10 y20 4+ % =209y + 1
C2,C3,C4
Cs5,C6,C7 y30739y29++3y+1
Cg,C9, C11
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1C5) Cusp shape
u=0.956303 + 0.3044691 5.787141 0.—7.327571
u=0.956303 — 0.3044691 — 5.787141 0.+ 7.327571

u = —0.955223 + 0.2319401

3.39527 — 3.000041

6.38473 + 5.895811

u = —0.955223 — 0.2319401

3.39527 + 3.000041

6.38473 — 5.895811

u = —0.964765 + 0.3499991

—9.41687 — 7.295291

—1.29292 4 5.676011

u = —0.964765 — 0.3499991

—9.41687 + 7.295291

—1.29292 — 5.676011

u=0.928951 + 0.1090381

2.11566 +- 0.223581

2.86129 4-1.314111

u= 0.928951 — 0.1090381

2.11566 — 0.223581

2.86129 — 1.314111

u = —1.09639

—5.79658

1.57890

w=0.591727 4 0.3927541

—11.51410 — 0.862191

—3.48471 — 2.063031

uw= 0.591727 — 0.3927541

—11.51410 4 0.862191

—3.48471 + 2.063031

u = —0.555182 + 0.2612721

—2.11566 + 0.223581

—2.86129 + 1.314111

u = —0.555182 — 0.2612721

—2.11566 — 0.223581

—2.86129 — 1.314111

u=0.155952 + 0.5756241

—12.85810 4 4.156011

—6.61449 — 3.955771

u= 0.155952 — 0.5756241

—12.85810 — 4.156017

—6.61449 + 3.955771

u = —0.150182 + 0.5133391

—3.39527 — 3.000041

—6.38473 4 5.895811

u = —0.150182 — 0.5133391

—3.39527 + 3.000041

—6.38473 — 5.895811

u= 0.151512 4 0.3676681 0.8916361 0. —7.399391
uw= 0.151512 — 0.3676681 —0.8916361 0.+ 7.399391
u = —1.61197 —4.27207 —1.99300
u= 1.65244 5.79658 —1.57890
u = —1.70383 + 0.036471 11.51410 — 0.862191 0
u = —1.70383 — 0.036471 11.51410 + 0.862191 0
u = —1.70626 4 0.077871 9.41687 — 7.295291 0.+ 5.676011
u = —1.70626 — 0.077871 9.41687 4 7.295291 0. —5.676011
u= 170771+ 0.059621 12.85810 + 4.156011 6.61449 — 3.955771
u= 170771 —0.059621 12.85810 — 4.156011 6.61449 + 3.955771
uw= 1.70693 + 0.09182] 9.051101 0. —4.223651
uw= 170693 —0.09182] —9.051107 0.+ 4.223651
u= 1.72865 4.27207 1.99300




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 w0+ 50 4 1Tu A+ 1
C2,C3,C4 u30_u29+..._u+1
€8, C9
€5, C6,C7 u +u? o putl
C11, C12
C10 w0 -5y o = 1Tu+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, C10 Oy =200y + 1
€2,C3,C4
C5,Ce, C7 y30 — 3992 + ... 43y +1
Cg,C9,C11
C12




